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Section: MANIPURI
Item No: 23
Question ID: 3958123
Question Type: || MCQ
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Section: MANIPURI
Item No: 24
Question ID: 3958124
Question Type: || MCQ
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Section: MANIPURI
Item No: 25
Question ID: 3958125
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Section: MANIPURI
Item No: 26
Question ID: 3958126
Question Type: || MCQ

Question:

Foia TS RAMED TOTR xxxx B REFR AMRICE 28 RCE WA WA
TfA°T BHUS AT xxxx BHC I




T fHERT IREAEe | x x x x (5 T FAfowar 7= vmEr 9E U |
fETg= STEwT SWEM x x x x OIECAI

Cof v ms
A

Bl

fol:a Tl
B:

[G iR

FOf R DR
C

ST

HEFLR TR
D:

BENECHIERT
Section: MANIPURI
Item No: 27

Question ID: 3958127

Question Type: || MCQ
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Section: MANIPURI
Item No: 28

Question ID: 3958128

Question Type: || MCQ
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Section: MANIPURI
Item No: 29
Question ID: 3958129
Question Type: || MCQ
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Item No: H 30
Question ID: 3958130
Question Type: || MCQ
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Section: MANIPURI
Item No: 31
Question ID: 3958131
Question Type: || MCQ
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Section: MANIPURI
Item No: 32
Question ID: 3958132
Question Type: || MCQ
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Section: MANIPURI
Item No: 33
Question ID: 3958133
Question Type: || MCQ
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Section: MANIPURI
Item No: 34
Question ID: 3958134
Question Type: || MCQ
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Section: MANIPURI
Item No: 35
Question ID: 3958135
Question Type: || MCQ
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Section: MANIPURI
Item No: 36
Question ID: 3958136
Question Type: || MCQ
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Section: MANIPURI
Item No: 37
Question ID: 3958137
Question Type: || MCQ
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Choose the correct answer from the options given below:
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Choose the correct answer from the options given below:
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Section: MANIPURI
Item No: 38

Question ID: 3958138

Question Type: || MCQ
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Choose the correct answer from the options given below:
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Choose the correct answer from the options given below:
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Section: MANIPURI
Item No: 39
Question ID: 3958139
Question Type: || MCQ
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Choose the correct answer from the options given below:
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Choose the correct answer from the options given below:
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Section: MANIPURI
Item No: 40
Question ID: 3958140
Question Type: || MCQ
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Choose the correct answer from the options given below:
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Choose the correct answer from the options given below:
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Section: MANIPURI
Item No: 41

Question ID: 3958141

Question Type: || MCQ
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Choose the correct answer from the options given below:
Question:

A BT

B. ¥ =wAi1
C. W8 wts
D. T

E. Ff*rason

Choose the correct answer from the options given below:
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Section: MANIPURI
Item No: 42
Question ID: 3958142
Question Type: || MCQ
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Choose the correct answer from the options given below:
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Section: MANIPURI
Item No: 43
Question ID: 3958143
Question Type: || MCQ
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Choose the correct answer from the options given below:
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Choose the correct answer from the options given below:

(A)-(iit) (C)-(v) (D)-(11)

(A)-(111) (B)-() (C)-(v) (D)-(1)
A
(A)-(i111) (B)-(1) (C)-(v) (D)-(i1)
(A)-(i1) (B)-(0) (C)-(v) (D)-(iii)
B:
(A)-(11) (B)-(2) (C)-(v) (D)-(1i1)
(A)-(i) (B)-(iv) (C)-(1) (D)-(3)
C
(A)-(ii) (B)-(tv) (C)-(i) (D)-()
(A)-(111) (B)-() (©)-() (D)-(v)
D
(A)-(i11) (B)-(i1) (C)-() (D)-(v)
Section: MANIPURI
Item No: 45
Question ID: 3958145
Question Type: || MCQ
Match List T with List II
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Choose the correct answer from the options given below:
Question:
Match List T with List 1T
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A TN I i@
B. om I e
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D. AN IV. 280 awar 21
Choose the correct answer from the options given below:
(A)-(ii) (B)-(v) (C)-() (D)-(x)
A
(A)-(ii) (B)-(iv) (©)-0) (D)-(1)
(A)-(111) (B)-() (C)-(v) (D)-(11)
B:
(B)-(1)




(A)-{m) (B)-u) (- (L)-lv)
C
(A)-(iii) (B)-(ii) (C-0) (D)-(v)
(A)-(11) (B)-() (C)-(w) (D)-(ui1)
D
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Section: MANIPURI
Item No: 46
Question ID: 3958146
Question Type: || MCQ
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Choose the correct answer from the options given below:
Question:
Match List I with List II
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A, RS EGEmwsa e I R e
B. gﬁﬁ T e I orEd e
C. EAfwd A-wrswmANs  IOL SEE v
BArma fFeifEe <5 3
D. e IV. Sl 2
Choose the correct answer from the options given below:
(A)-(iit) (B)-(v) (C)-(i) (D)-(3)
A
(A)-(iir) (B)-(v) (C)-(1) (D)-()
(A)-(v) (B)-(ii1) (©-0 (D)-(i1)
B:
(A)-(v) (B)-(iit) (C-0) (D)-(11)
(A)-(ii1) (B)-(i1) (©-® (D)-(v)
C:
(A)-(iit) (B)-(ii) (C)-) (D)-(v)
(A)-(iit) (B)-(D) (C)-Gv) (D)-(i1)
D
(A)-(iir) (B)-() (C)-(iv) (D)-(11)




Section: MANIPURI
Item No: 47
Question ID: 3958147
Question Type: || MCQ
Match List T with List IT
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A wURE 1. &Rr Rres
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C. @Rw 1. Zoxses
D. ®wam IV. @ Rrotes
Choose the correct answer from the options given below:
Question:
Match List T with List IT
LISTI LISTII
A, =M I. T Bl
B. ®&: II. fF =
C. TIEIF OI. =g =rE=an
D. iz IV. g BIesTaa
Choose the correct answer from the options given below:
(A)-(u1) (B)-(1) (C)-(v) (D)-(i1)
A:
(A)-(u) (B)-(1) (C)-(v) (D)-(1)
(A)-(m) (B)-(1) (C)-(w) D)-v)
B:
(A)-(u1) (B)-() (C)-(1) (D)-(iv)
(A)-(1) (B)-(1) (CO)-(iv) (D)-(it1)
C
(A)-(1) (B)-(1) (C)-(v) (D)-(ii1)
(A)-(u1) (B)-(11) (C)-(D) (D)-(1v)
D:
(A)-(1ii) (B)-(i1) (©)-@1)
(D)-(v)
Section: MANIPURI
Item No: 48
Question ID: 3958148
Question Type: || MCQ
Match List T with List II
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Choose the correct answer from the options given below:

Question:
Match List T with List II
LISTI LISTII
A, (S*EIN CUIe=Te 1. (o &% TmENd
B. t&ts T I o & Refea &t
C. J5 qEEa (=g A I &5, FICaE- (He=
D. e =i Tedw IV. P NAcee DT
Choose the correct answer from the options given below:
(A)-(iv) (B)-(ii1) (C)-(11) (D)-()
A
(A)-(v) (B)-(1ir) (C)-(i) (D)-(1)
(A)-(i) (B)-() (C)-(v) (D)-(x)
B:
(A)-(ii1) (B)-(1) (C)-(v) (D)-(11)
(A)-(ii1) (B)-(ii) (©-® (D)-(v)
C:
(A)-(i11) (B)-(i1) (C)-() (D)-(iv)
(A)-(i1) (B)-() (C)-(v) (D)-(i)
D
(A)-(1) (B)-() (C)-(v) (D)-(1i1)
Section: MANIPURI
Item No: 49
Question ID: 3958149
Question Type: || MCQ
Match List I with List II
LISTI LISTIO
A,  7AURE REEle I. wToREm
B. oof dwzf ma 1. mAsar
C. oof oof wsfexcf keafe 11 onIsen
D. oaof 3rCRWsfes meare IV,  CUI0EF RKeet i
Choose the correct answer from the options given below:
Question:

Match List I with List II

LISTI LISTII
A, = ufE 1. e e
B. & awa ag . Szt
C. =& onfaea wfae Ol  *TomEE=




D. & fao= oonfas wf=g

Choose the correct answer from the options given below:

Iv.

Aeterm @t wone

(A)-(ii) (B)-(iv) (C)-(11) (D)-()
A
(A)-(ii) (B)-(v) (C)-(1) (D)-()
(A)-(1) (B)-(v) (©)-@) (D)-(iii)
B:
(A-G)  (B)-(v) (C)-(1) (D)-(ii1)
(A)-(ii) (B)-(i1) (©)-0) (D)-(v)
C:
(A)-(i11) (B)-(11) (C)-() (D)-(iv)
(A)-(ii) (B)-(1) (C)-(v) (D)-(if)
D
(A)-G) (B} (C)-(v) (D)-(i1)
Section: MANIPURI
Item No: 50
Question ID: 3958150
Question Type: || MCQ
Match List I with List II
LISTI LISTIO
A, BERT %3 1. RERHCT
B. HEerm 1. rmdes
C. WREIN . #%%
D. ®Twss V. #&3
Choose the correct answer from the options given below:
Question:
Match List I with List II
LISTI LISTII
A TR O4ERT I EAUsTeT
B. FEF I g S=a
C. TS m. =2
D. OFEYEA V. (&=
Choose the correct answer from the options given below :
(A)-(ID) B)-0 (C)-aV) (D)-(ID)
A
(A)-(11) (B)-(1) (C)-(v) (D)-(it1)
(A)-(1IT) (B)-(D) (O)-(1D) (D)-(IV)
B:
(A-(11) (BI-(1) (CY-(1) (D-(1%)




(A)-(ID)

(B)-(IV)

(C)-(D)

DD
(A)-(1i1) (B)-(v) (C)-(1) (D)-(1)
(A)-(TID) (B)-(IT) (C)-@ (D)-(1V)
(A)-(iii) (B)-(ii) (C)-() (D)-(iv)




